
Math 262 — 25 November 2019

The number of eggs  found in a nest of a certain species of turtle has a Poisson distribution 

with mean  . Each egg has a probability  of being viable, and this event is independent 

from egg to egg. Find the mean and variance of the number of viable eggs per nest.
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Sketch the density of the sum of two iid          random variables. How about three? Four? 

More?

1.

Use R to simulate 10,000 samples from the distribution          :2.
  hist(runif(10000))

What is the shape of the histogram?

Now simulate 10,000 averages, each of 30 samples from          :3.
  means <- replicate( 10000, mean(runif(30)) )
  hist(means, breaks=30)

What is the shape of the histogram?

Repeat #2 and #3 above with a different distribution. That is, replace runif with a distribution 

of your choice. What do you observe?
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